PHYSICS

unit of measurement of magnetic
induction - Gauss

unit of Resistance - Ohm

unit of magnetic flux - Weber

Q112. Which of the following has an
odometer?

o o 3 fored shehfier g g 2
SSC-CPO 16/03/19 (Afternoon)
(a)Water heater/ T¢I TH FH3A a1 I
(b)Car/ ®RR

(c)Blood pressure monitoring device/
RESEIENEUNEIIREERY

(d)Air pump/ TR 44

Sol.(b) Car

Explanation: An  odometer or
odograph is a device used for
measuring the distance travelled by a
vehicle, such as a bicycle or car.

Q113.Which  of the following
quantities have its SI unit named after
Blaise Pascal ?

g 7 3 fow IR & s1 7907F 1 90
S YRGS o ATH TR QT T 2

SSC MTS 05/08/2019(Morning)
(a)Energy/ St (b)Pressure/ qld
(c)Work/ Eap (d)Power/ fad

Sol.(b) Pressure
Explanation: SI unit of Pressure -
Pascal

Q114.What is the unit of Power of a
lens?

G Bt e BT gabTs RN & 2

SSC MTS 05/08/2019(Afternoon)
(a)Joul/ S (b)Dioptre/ PR
(c)KWH (d)Watt/ dic

Sol.(b) Dioptre

Explanation: Unit of Power of a lens -
Dioptre

Unit of Energy - Joule

Q115. Horsepower has how many
Watt?

| RIUTR A fpa ae gl & 2

SSC MTS 05/08/2019(Evening)

(a)766 Watt (b)746 Watt
(c)756 Watt (d)736 Watt
Sol.(b) 746 Watt

Explanation: Horsepower (hp) is a unit
of measurement of power, or the rate
at which work is done, usually in
reference to the output of engines or
motors.

Q116. 1 pound=__ ounces.
1gs=_ efig

SSC MTS 08/08/2019(Evening)
(a)l6 (b)18

(©)12 (d)20

Sol.(a) 16

Explanation: The pound is a unit of
mass. 1 pound is equal to 16 ounces.

Q117.What is the SI unit of
Momentum?

AT BT ST HES TG 2

SSC MTS 13/08/2019(Morning)
(a)Ampere/ TR

(b)Kg m/sec/ fob 1 Hiex AdhS

(c)Joule/ &
(d)Kg m/ T AT HIeR

Sol.(b) Kg m/sec

Explanation: Kg m/sec is the SI unit of
Momentum.

Ampere is the SI unit of current

Joule is the SI unit of Energy

Q118.Which of the following physical
quantity - SI unit pairs is correctly
matched?

Wifde AR s1AES B RgF B AT
gH AR g 2

SSC MTS 14/08/2019(Afternoon)
(a)Power-Kilogram/ 2fa - frarm
(b)Inductance-Henry/ TSI - g1
(c)Capacitance-Ohm/ HTR@T - 3{1H
(d)Force-Newton/ d¢f - I

Sol.(d) Force-Newton
Explanation: Power - Watt

Inductance - henry
Capacitance - Farad

Q119.What is the S.I. unit of Energy?
il BT SIAES FE 2

SSC MTS 16/08/2019(Morning)
(a)Joule/ S[&

(b)Newton/ =Jc

(c)Hertz/ §Cul

(d)Pascal/ UReh el

Sol.(a)Joule

Explanation: S.I. unit of frequency -
Hertz

S.I. unit of pressure - Pascal

Q120.In Physics, what is Hubble
Constant?

Wi & g Fadies FT g 2

SSC MTS 16/08/2019(Afternoon)
(a)Total energy of Electromagnetic

radiations/ fdqgaEDHIg fafoxon @t
T ol

(b)Permittivity in the free space/ Had
3fRef BT @TeiiT

(c)Unit  of measurement which
explains the expansion of universe/
Y FY 95 IPTS O FRAUS & IR Y
TS B 2 |

(d)Velocity of light in vacuum/ fafa o
YT BT HT

Sol.(c) Unit of measurement which
explains the expansion of universe
Explanation: The Hubble Constant is
the unit of measurement used to
describe the expansion of the universe.
The cosmos has been getting bigger
since the Big Bang kick-started the
growth about 13.82 billion years ago.

Q121.At which temperature are
Fahrenheit and Celsius equal?

g a9 R BRATRC 3R ATy
WREAE?

SSC MTS 22/08/2019(Evening)

(2)-30 (b)-40

(c)-10 (d)-20

Sol..(b)-40
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Explanation: C =F * (9/5) + 32
When both are same let them x
x=1.8x+32

x =-40

Q122. The SI (international system of
units) unit of length is

RIS ﬁ% (ARG gometh) ST
SSC CPO 13/12/2019 (Morning)

(a) metre / HieX

(b) centimetre / FHTEX

(c) millimetre / fArefTHeR

(d) kilometre / fradtex

Sol. (a) metre

Explanation: There are seven SI units
of measurement as per International
systems:
Length(metre); Time(second);
Amount of substance(mole); Electric
current(ampere); Temperature(kelvin);
Luminous Intensity(candela);

Mass(kilogram).

Q123. The SI (international system of
units) unit of length is

LEIS) ﬁ% (IR Yoy 3BT
SSC CPO 13/12/2019 (Morning)

(a) metre / Hiex

(b) centimetre / e

(c¢) millimetre / fociiHiex
(d) kilometre / foadex

Sol. (a) metre

Explanation: There are seven SI units
of measurement as per International
systems:
Length(metre); Time(second);
Amount of substance(mole); Electric
current(ampere); Temperature(kelvin);
Luminous Intensity(candela);

Mass(kilogram).

Q124. Heinrich Rudolph Hertz laid
the foundation for the future
development of radio, telephone and

telegraph. The SI unit of  was
named as 'Hertz' as his honour.

BN FSleh gow A AN, TelvA
3R THUTE & ufdw & fawm @t g
T B SISHE DI ITH GHHE
0 H goo A g mar o

SSC CPO 13/12/2019 (Evening)

(a) Sound / &4

(b) Heat / &HHI

(c) Light / UTRT

(d) Frequency / wieat

Sol. (d) Frequency

Explanation: Heinrich Rudolf Hertz
was a German physicist who first
conclusively proved the existence of
the electromagnetic waves. The unit of
frequency, cycle per second, was
named the "hertz" in his honor. He laid
the foundation for future development
of radio, telephone and telegraph.

Q125. | horsepower =
approximately  watts.

1 SfYRITSHRT = AT are |

SSC CGL 3-3-2020 (Evening)

(a)647 (b)674

(c)764 (d)746

Sol. (d) 746

Explanation: Horsepower is a unit of
measurement of power, or the rate at
which work is done. 1 Horsepower is
equal to 746 watt.

Q126.The power of a lens is -2.0 D.
Here 'D' stands for:

TS 9 B T -2.0 St g1 Tgi S HT
3'['&%

SSC CGL 7-3-2020 (Morning)
(a)distance / @

(b)dilation / f&ar=M

(c)dioptre / fSaifeR

(d)degree / f&it

Sol.(c) dioptre

Explanation: A dioptre is a unit of
measurement of the optical power of a
lens or curved mirror, which is equal
to the reciprocal of the focal length

measured in metres. (1 dioptre = 1
m™'.) It is thus a unit of reciprocal
length.

Q127.Which one of the following
statements is INCORRECT?
Foffed & 9 1 91 S TTerd o2

SSC CGL 7-03-2020 (Afternoon)
(a)Brass is a mixture of 30% zinc and
70% copper/Uldd, 30% STl 3R 70%
i/ &1 forsyor g

(b)Evaporation causes
%ooling/a'l'ufﬂWUT & HRUT Afidad giar

(¢c)The measurable unit of pressure is
denoted in Metre/&Td & HHD I HIeR

T Xifrd B B
(d)Matter is made up of small
particles/derd B HUN § T g1 §

Sol.(c)The measurable unit of pressure
is denoted in Metre

Explanation :For pressure, the SI unit
is Pascal (Pa), which is N/m? (Newton
per square meter). the standard
atmospheric pressure is 101325 Pa
absolute.

Q128. 'Tor'is aunitof
TR BTHIBRT

SSC CGL 7-3-2020 (Evening)
(a)force / §¢1

(b)pressure / qId

(c)power / fed

(d)energy / Sl

Sol.(b) pressure

Explanation: The torr (symbol: Torr)
is a unit of pressure based on an
absolute scale, defined as exactly 1760
of a standard atmosphere (101325 Pa).
Thus one torr is exactly 101325760
pascals (= 133.32 Pa).

Q129. Which of the following is the
SI unit of thermodynamic
temperature?

fofafea & § o8 a1 yrlermmite
ATIHH B SI SPTS 82

CHSL 18-03-2020 (Evening)
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(a) RadianRf&T

(b) Celsius/ATRTH

(c) Kelvin/dfead

(d) Fahrenheit/®wIRg18C

Sol.(c) Kelvin
Explanation: Kelvin is the SI unit of
thermodynamic temperature.

Q130. Since the clinical thermometer
is designed to measure the temperature
of the human body only, it displays the
range of 35 degree Celsius to

FhfAEHa ydHley &1 TR IR &
Ao S OO & o fear S §
! ot 35 ol iy @@
gl 81

SSC CHSL 14-10-2020 (Evening)

(a)46 degree Celsius

(b)48 degree Celsius

(c)42 degree Celsius

(d)44 degree Celsius

Sol.(c) 42 degree Celsius

Explanation: The clinical thermometer
displays the range of 35 degree
Celsius to 42 degree Celsius.

Q131. Identify the wunit of
measurement of energy.

Sl A0 &1 SHTE R 8 2

SSC CHSL 19-10-2020 (Morning)

(a) Ampere/ TIERR (b) Joule/ [

(c) Volt/ dle (d) Watt/ d1c

Sol.(b) Joule
Explanation: The unit of measurement
of energy is Joule.

Q132. Which of the following is the
basic SI unit of thermodynamic
temperature?

ST AITHM &1 e TH3NS 3bTS
frafafed § 4 oH w82

SSC CHSL 20-10-2020 (Morning)

(a) Mole/ W@ (b) Candela/ Higam
(c) Metre/ HTex  (d) Kelvin/ dfead

Sol.(d) Kelvin
Explanation: Kelvin is the basic SI
unit of thermodynamic temperature.

Q133. The difference in temperature
between two bodies is 30 degree
centigrade. What is the

difference in degree Fahrenheit?

3 st & e & 30 f&h IS @1
MR 31 &3 pRaeTST # U7 SiR fava
g2

SSC CPO 23-11-2020 (Morning)

(@72 ()54 (c)64 (d) 86

Sol.(b) 54

Explanation: Change in degree
fahrenheit = 1.8 x change in degree
centigrade.

Change in degree fahrenheit = 1.8 x
30=54

Q134. Which one among the
following measures the same quantity
as that is measured by the SI unit
‘pascal’?

foffed & 9 o9 o S IR A
HIOd §, R THeE WEe URed &
GRT {17 STl 52

SSC CPO 23-11-2020 (Morning)

(a) newton / Yc- (b) joule/ S

(c) watt/ dTC (d) torr/ TR

Sol.(d) torr

Explanation: Pascal is SI unit of
pressure

Newton is SI unit of force

Joule is SI unit of work done

Watt is SI unit of power

Torr is used to measure pressure

Q135. 1 horse power is equal to

approximately watts.
1 31y eI ATHT qIe & IR
gzl

SSC CPO 24-11-2020 (Morning)

(a) 500 (b) 250
(c) 1000 (d) 750
Sol.(d)750

Explanation: One Horse power is
approximately equal to 746 watts.

Q136. ‘mho’ is the unit of ofa
substance.

‘mho’ T TSI Bl BIZHE B

SSC CPO 25-11-2020 (Morning)
(a) conductance/ Udlghcd

(b) resistivity/ TfaRIUmdT

(c) resistance/ gfeRTY

(d) conductivity/ dTeibdl

Sol.(a) conductance
Explanation: ‘mho’ is the unit of
electrical conductivity of a substance.
The unit of resistance is ohm.
Resistance and conductance are
inverse of each other that is why mho
is —L

ohm
Q137. One calorie of heat energy is
equivalent to approximately
joules of mechanical

Energy.
T HaRl ST SHoll Tl Sd
i3 Suif & IR el 3
SSC CPO 25-11-2020 (Morning)
(a) 0.24 (b) 0.48
(c)4.2 (d) 2.4
Sol.(c) 4.2

Explanation: 1 calorie of heat energy
is approximately equal to 4.2 Joules.

1 calorie is defined as the amount of
heat required at a of 1 standard
atmospheric pressure to raise the
temperature of 1 gram of water by 1 °
centigrade.

Q138. 30°Celcius = Kelvin
(approximately)

30° iR = ohfedH (ATH)
SSC CPO 25-11-2020 (Morning)

(a) 303 (b) 243
(c) 130 (d)-30
Sol.(a) 303
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Explanation: 0°Celsius =
273.15°Kelvin
So 30°Celsius = (273.15°+30°)Kelvin

=303.15°Kelvin=303° Kelvin

Q139. Which of the following would
you associate with ‘dioptre’?

SAIPR B 37 9 # § foases Ay
e 2

SSC-CPO 16/03/19 (Afternoon)
(a)Urology/ @Fﬁ\—rﬁ
(b)Ophthalmology/ Sfeyadrarst
(¢c)Neurology/ T

(d)Oncology/ 3iT=prarsit

Sol.(b) Ophthalmology

Explanation: Dioptre is the unit of
measurement of power of a lens. Lens
is used to correct the eye disorder.
Ophthalmology is a branch of
medicine which deals with diagnosis
of eye disorders.

Miscellaneous

Q140. Which of the following metals
is the most ductile metal?

frofifed & 9 o1 O u1g g9 oifiw
T erg 82

SSC-CGL 06/06/2019 (Morning)

(a) Tin /feq

(b) Gold / Tl

(c) Copper / ®ITR

(d)Aluminium/ TegHIH

Sol. (b) Gold

Explanation : Ductility is the ability of
material to change into wire.
Malleability, a similar property, is a
material's ability to form a thin sheet
by hammering or rolling.

Q141. A high tensile alloy steel called
was used to construct Howrah

Bridge.
HESRGE BRI E AT S |
% S8 Tdid ST 3¥Id BT TR
[ERIRIIEI

SSC-CPO 15/03/19 (Morning)

(a)TISCAL
(B)TISCBROM
(C)TISCOP
(D)TISCROM

Sol.(d) TISCROM

Explanation: Howrah Bridge
(Rabindra Setu) is On River Hooghly
in kolkata.A high tensile alloy steel
called TISCROM as used to construct
Howrah Bridge.

Q142. is the process by

which water vapour in the air is

changed into liquid water.

S urw e gRiead

ga A B @R U H Sae faar S
[

SSC CHSL 08/07/2019 (Afternoon)

(a) Decantation / IRESIRUI

(b) Precipitation / ofafiesm

(c) Evaporation / a1

(d) Condensation / g1

Sol.(d) Condensation

Explanation: Condensation is the
process by which water vapour in the
air is changed into liquid water.

Q143. During the occurrence of
thunder and lightning:

RS & Y foeTell TS B gl &
R

SSC CPO 9/12/19 (Evening)

(a) whether lightning is seen first or
thunder is heard first will depend upon
the distance and angle of the clouds
vis-a-vis earth/ UPIRT Ugd G AT
3aTS U8 8 o't I8 gt & A
FEA! & DI U gal R AR B |

(b) lightning is seen at the same time
as thunder is heard/ RS 15 & &
1 € TR o o A R |

(c) thunder is heard before lightning is
seen/ TR YT f@Ts < 9 Ugd g8
&g

(d) lightning is seen before thunder is
heard/ USRI RS A & ¥ TgA
fears & e |

Sol.(d) lightning 1is seen before
thunder is heard

Explanation: As light travels faster
than sound, hence light is seen before
sound is heard during lightning.

Q144. The term 'Askaryan effect' is
associated with which functional area
of science?

g VST JHIE® BT FaiY faq= &
EREEACR e

SSC CPO 9/12/19 (Evening)

(a) Physics/ ifaet

(b) Geology/ Y-fagm

(c) Chemistry/ JHTI- Rk

(d) Biology/ Sfia fagm

Sol.(a) Physics/ Hifaewt
Explanation:The Askaryan radiation
also known as Askaryan effect is the
phenomenon whereby a particle
traveling faster than the phase velocity
of light in a dense dielectric (such as
salt, ice or the lunar regolith) produces
a shower of secondary charged
particles.

Q145. Which among the following is
responsible for the rotation of the
plane of oscillation of Foucault's
pendulum?

Bidiee & UgAH & gl & 90 &
gpfﬂ%mﬁaﬁ«@aﬁ@rﬁqﬁ@m

SSC CPO 11/12/2019 (Evening)
(a) Centripetal force /ﬁﬁﬁ?ﬁ EG)

(b) Viscous drag of air / mﬁﬁw
ST

(c) Centrifugal force / CECaCK|
(d) Coriolis force / B3N g

Sol. (d) Coriolis force

Explanation: the Coriolis force is an
inertial or fictional force that acts on
objects that are in motion within a
frame of reference that rotates with
respect to an inertial frame.Coriolis
force is responsible for the rotation of
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